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&S X 4 Ergl;f 'Fﬁﬁb\(‘z)(bﬁﬁﬁﬁ jj(gifn?)‘é Z 4 'Fiﬁﬁg\é;zg;kzlz z.%r'n‘c)k jj(ﬁ?tn:é)‘é Z 4 E.%r‘na)k J:ﬁﬁb\(‘:)@tb'.%‘ jj(ﬁ?tn:é)‘é X 4 J:ﬁﬁ“ﬁb\(if)tt‘.%' ‘(.ia;f jj(l((];?(r:f)é
7 100kN/m%E#BZ5 | 1.00| 000 ~ 146 12215 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 1269 ~ 2311 12215 |3m%Ei#BZ 5D -~ -
s 1.00 | 1.46 ~ 9.24 100.00 | #nst | 0.00 ~ 9.24 | 2.59 12.54 st 1.00 | 6.00 ~ 1269 100.00 | =nst | 6.00 ~ 2311| 2.39 12.54
2 100kN/m%E#8z5 | 1.00 | 000 ~ 292 146.40 |3mE#Bz% -~ - - -] 100kN/ %825 | 1.00 | 10.77 ~ 2459 | 146.40 |3m%E#BZ3 -~
s 1.00 | 292 ~ 171 100.00 | #nlst | 0.00 ~ 1071| 2.85 14.94 st 1.00 | 6.00 ~ 1077 100.00 | =nst | .00 ~ 2459| 2.85 14.94
3 100kN/m%E#BZ5 | 1.00| 000 ~ 276 143.60 |3mEBZD -~ - - -] 100kN/ %825 | 1.00 | 10563 ~ 2359 148360 |3m%Ei#Bz% -~
s 1.00 | 276 ~ 1055 100.00 | =nst | 0oo ~ 1085|272 14.26 st 1.00 | 6.00 ~ 1053 100.00 | =nlsy | 6.00 ~ 2359 2.72 14.26
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 224 134.89 |3mZE#BZB| 000 ~ 007 | 3.056 16.00 | 100kN/mi%#825 | 1.00 | 11.87 ~ 21.54| 134.89 |3m&E#BZ5B| 2000 ~ 21.54| 3.05 16.00
s 1.00 | 224 ~ 1003 100.00 | #nst | 0.07 ~ 1003 3.00 156.73 st 1.00 | 6.00 ~ 1187 100.00 | =nst | 6.00 ~ 2000 3.00 15.73
5 100kN/m%E#8z% | 1.00 | 000 ~ 228| 13556 |3mEiBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 1055 ~ 19.60| 135.66 |3mZ#Bz25 -~
s 1.00 | 228 ~ 1007 100.00 | =4 | 0.00 ~ 1007| 2.41 12.64 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 19.60| 2.41 12.64
P 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.18 77.62 | FnLS | 000 ~ 618 214 11.21 st 1.00 | 5.00 ~ 9.50 77.62 | TS | .00 ~ 9.50 | 2.14 11.21
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 714 90.78 | #nS | 000 ~ 714\ 1.91 10.02 st 1.00 | 6.00 ~ 9.50 90.78 | =nLS | 5.00 ~ 9.50 | 1.91 10.02
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.94 87.93 | #nS | 000 ~ 694 | 1.97 10.34 st 1.00 | 6.00 ~ 9.50 87.93 | #hL4 | 5.00 ~ 9.50| 1.97 10.34
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 698 8850 | #nSt | 0.00 ~ 6.98| 1.96 10.28 st 1.00 | 5.00 ~ 9.50 88.50 | =hst | 5.00 ~ 9.50| 1.96 10.28
10 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 7.00 8880 | =St | 0.00 ~ 7.00| 1.95 10.256 st 1.00 | 5.00 ~ 9.50 88.80 | =hdst | 5.00 ~ 950 | 1.95 10.25
11 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.78 85.66 | =nLS | 000 ~ 6.78| 1.95 10.256 st 1.00 | 5.00 ~ 9.00 85.66 | ThLS | 5,00 ~ 9.00| 1.95 10.25
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.54 8248 | #nS | 0.00 ~ 6.54 | 2.01 10.56 st 1.00 | 5.00 ~ 9.00 82.48 | =hs | 5.00 ~ 9.00| 2.01 10.56
13 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 663 83.65 | #nS | 000 ~ 0.00| 1.57 821 st 1.00 | 5.00 ~ 9.00 83.65 | =hLS | 5,00 ~ 9.00| 1.57 821
14 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 663 83.63 | #nLS | 000 ~ 0.00| 1.57 821 st 1.00 | 5.00 ~ 9.00 83.63 | =hLS | 5.00 ~ 9.00| 1.57 821
15 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 684 86.52 | LS | 000 ~ 684 | 1.84 9.62 st 1.00 | 6.00 ~ 850 86.52 | =hs | 500 ~ 850 | 1.84 9.62
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16 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 6.90 87.35 | =hLs | 0oo ~ 690 1.78 9.31 st 1.00 | 5.00 ~ 8.50 87.35 | #hds | 5,00 ~ 850 1.78 9.51
17 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 684 86.52 | =nSt | 000 ~ 684 | 1.83 9.62 st 1.00 | 6.00 ~ 8.50 86.52 | =hs | 5.00 ~ 850 | 1.83 9.62
18 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 5.78 72.34 | FnLS | 0oo ~ o000 1.70 8.91 st 1.00 | 6.00 ~ 6.50 72.34 | ThSY | .00 ~ 6.50)| 1.70 8.91
19 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 5.78 72.34 | FnS | 0oo ~ o000 1.70 8.91 st 1.00 | 6.00 ~ 6.50 72.34 | TS | .00 ~ 6.50)| 1.70 8.91
20 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 4.52 56.40 | =hs | 0.oo ~ 000 1.67 821 st 1.00 | 6.00 ~ 5.00 56.40 | =hLS | 5.00 ~ 5.00| 1.57 821
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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